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ER SCIENCE SSC-
SECTION - A (Marks 12)

Time aliowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent,
Deletingloverwriting is not allowed. Do not use lead pencil.

|
Q.1 Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

() Which of the following is the fastest memary?

A USBfeshdiveB.  RAM C.  RoM D.  Cache
(i) Whattype of Software a device driver is?
l A Application software B.  Productivity software
‘ C.  System software D.  Business software
(ii)  Which interface is based on textual input?
A GUI B. CLI
C.  Menu driven interface D.  Windows

(iv)  Which of the following is an open source operating system?

A Unix B. Linux C. DOS D. Novell's Netware
(v)  Which of the following is used in MS Word 2010 for creating decorative effects on text?

A Pageformating B.  Paragraph formatfing

C.  WordArt D.  Textformatting

(vi) By default how many tabs are there in MS Word 2010 Ribbon?
AT B 8 c. 8
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i (vi)  Which of the following is used for short distance communicak @ a
adio signal  B. icro@v@@ ~  Satellite Communication
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: vilj  What re 0 f a computer network?
| (viil) presﬁs . p
- A, ta C.  Signal Strength D.  Baudrate
! gfollowirg network provides centralized security?
| Client/Server Network B. Peer-to-Peer
E: Local Area Network D. Point-to-Point Network

(x)  Which of the following topology is most expensive to implement?

A Star B. Bus C. Ring D.  Mesh
(i)  Which malware spreads automatically in computer network and replicates itself?
A Vs B.  Wom C.  Adware D.  Spyware
| (i) Which of the following authentication method is most reliable?
A User name and password B. PIN
C.  Access Card D.  Biometrics
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